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It's good to exercise on a regular basis.
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(1) I want to stay home, L+ Zlof| 29111 410],
(2) I want you to stay home.
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She begged me to give her one more

chance.
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It's impossible to swim across the river.
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It's impossible for the boy to swim
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It is kind of you to help the homeless.
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Exercises
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1. My wife expects (my / me) to do
some chores.
2. It’s so kind (for / of) you to say so.

3. It’s so natural (for / of) you to have
feelings for her.

4. They will not allow (yours / you) to
use the Internet.

5. It’s rude (for / of) you to ask her that
question.



